“Gerald the Giraffe’'s number problems”

Gerald did a dance with 6 monkeys. How many animals were
dancing together?

The lions had 8 flowers but they gave 4 to Gerald. How many
flowers were left?

The monkeys had 12 bananas but they gave half of them to the
zebras. How many bananas did they have lefte

7 animals came to the Jungle Dance. 7 more arrived. How many
animals were at the Jungle Dance?

13 zebras were playing under the moon. 5 zebras fell asleep.
How many were still awake?

? meercats were watching Gerald dance. 6 more joined them.
How many meercats were there now?e

If the elephant had 4 peanuts, how many more would he need
to have 8 peanuts altogether?

Zebra has 10 mangoes. She shares them with her 4 friends. How
many mangoes does zebra and each friend have?




